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Coordinates of the crossSection field 
of the Extrusion node:
0: x=0              z=−0.174
1: x=−0.056    z=−0.166
2: x=−0.107    z=−0.145
3: x=−0.155    z=−0.112
4: x=−0.190    z=−0.064
5: x=−0.190    z=0.074
6: x=−0.160    z=0.096
7: x=−0.160    z=0.151
8: x=−0.155    z=0.2
9: x=−0.107    z=0.236
10: x=−0.056  z=0.256 
11: x=0            z=0.264
12: x=0.056    z=0.256
13: x=0.107    z=0.236
14: x=0.155    z=0.2
15: x=0.160    z=0.151
16: x=0.160    z=0.096
17: x=0.190    z=0.074
18: x=0.190    z=−0.064
19: x=0.155    z=−0.112
20: x=0.107    z=−0.145
21: x=0.056    z=−0.166

0.234 < y < 0.24


